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Multiple Choice Strategy with Variables
- If variables in the problems and answers:
10STO —» X,158TO - Y

Type in original problem, 2™ Math (Test), =, type in each solution. 1 is equivalent, 0 is not
equivalent. Make sure to try all four choices.

6x° + 17x% + 10x+ 2

1. The expression 13 equals
/1/)/3:!c2+4x—1+2;&_'::_3 ( 3)6x2—x+13—% O

2) 6x° +8x— 2+ 2xi3 O 4) 3):1"+13;r+£]'2—9+2;1{54_13 O

2. The expression 47—32?2?—“] is equivalent to

1) 2x% + 3x- 7+ 2;13 O 3) 27;2+2.5;f+5+lef_3
/2/)2x2—3x+7—27c1j_3 ( 4) 2x2—2.5x—5—2x2_[l]_3

3. What is the completely factored form of &* - 4k* + 8k® — 32k + 12k* - 48?
D) E-Dk-2)k+3DE+4) O 3) tk+ 2)(k— 2)(k+ 3k +4) O
2) (k- Dk-DE+ kD) M+ Dk~ D+ OEk+D) @ |

4. Factored completgly, the expression 6x—x" —x° is equivalent to
1) x(x+3)x-2) O

2) x(x=3)(x+2) (&)

3) =x@x-3)E+2)OC

;1) —x(x+3)(x—2) !

5. When factored completely, the expression 3x3'— 5>|c2 —48x + 80 is equivalent to
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6. The expression is equivalent to
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7. Which expression is equivalent to

8. What is the product of «/4a2b4 an@w 24
/Yf 4ab* 3 & 1

2) a3 O

3) 8ab23«/a_2- O

4 a3z O ¥
) Y
9. The expressmévn.f 16x5°y" is equwalent to (’l
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)/)’2;(2_}14 3) 42{ y
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10 For Qosﬁve values of x, which expression is equivalent to / 16x° %+ Ve’
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11. Written in simplest form

d+ 2 d+ 2
2) ¢—-d D AL S i 4) -c+d O T"&X

d+2c T’I—JFW ngv d+2c

. =3x -5x+2 .
12. The expression T .3 be rewritten as
X +2x

1) -3x-3 O 3y 341 O
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Multiple Choice Strategy with Equations

-Store each potential answer ( STO — X)

-Type in equation

-1 is correct, 0 is incorrect

*Be sure to check all potential answers as most equations have multiple answers

1. The solution set of the equation ~fx+3 =3-xis
Jy {1y ostodx |

2) {0}

3) (L6} [ STO>X O

4) {2,3}

2. What is the solution set for the equation ~/5x+ 29 = x+ 3?
2@ 450 |

2) -5}

3) {45} § STOX O

4) 541 =5 50X O

3. The solution set of ~f3x+ 16 = x+ 2 is
1) (3.4} ;

2) (4,3} -4 S>>0

¥y (3} 2 SO |

4) {-4}

4. The solution set of the equation ~/2x-4 =x-2is
D {—2’_4}1 STOSY |

2,4} 230
/g’ ;:4}} 4 ST0>X

4 {1}

5. What is the solution set of the equation +1=
1) {2,3} Y DTODX ERR

A2 QsosY |
7 3) {3}
4 {}
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7. The solution set for the equation ~/56—x = xis
1) 87 =Y 313X O
2) {-7.8}
A7 7 7 3TOSX |
4) (1}

8. The zeros for fix) = x* — 4x® - 9x* + 36x are
A 6£34) 5 s

2) {0,3,4} 2 SOX

3) 023-4 3 Jpox

4) {0,3,-4} J SOSX

9. Which values of the following is a solution of the following system of equations?
1) (0,4

2) (2,0) . y=3x-6
——

K CON R € y=1t-1-6

4) (2,-1) t

10. Which ordered pair is a solution of the system of equations shown below?

1) @.3)

2) GO _<osmuex
A 6510 Oy

4) (—4>9) (

;\ x+y=35
i G+3)2+(y-3)"=53

11. Which ordered pair is in the solution set of the system of equations shown below?

1) @.6) yi-x?432=0
2) G.1) -
3) (-1,-3) 3y-x=0
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Open Response Equations
1) Type in left hand side into Y1
2) Type in right hand side into Y2
3) Adjust window (if necessary)
4) 2™ Trace (Calc), 5: Intersect
5) The solution is the x value of the intersection
6) You must still check!!!
*You may want to divide both sides at the beginning to make the values smaller
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1. Solve x° + 5x? = 4x +20. L(': X3+SX ><_ "\; :D\lwsé(:‘\”

sYad ot 3§ max {p = A0 x=3
2. Solve the equation 2x* - x* - SxU} =0 for all values of x. _ (; {_
. 5 == 2 ’«'—__ .
Loindois’s Good (= HS- X=xH ><‘ TnleiSec
I :O X —-Q
3. Solve algebraically for all values of x: x4 dx® 4+ ax? = —16x ‘
;m\p\— 3 max Y= X e Lt X :Q + njus,gd—
=" 'bx K==
4. Find the zeros for p(x) = x* + x* —4x-4. X= -Q
wndows "})\»J O 1)('1{‘7(“".‘{)("‘; bR R lerSec b
A= x=2

5. Solve for all values ofA Nx=5+x=7 X':(ﬂ" j:nle{_s_ed’
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6. What is the solution set for the equation ~/ 56 —x = x ? Thlarse ch
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Ta=x
7. What is the solution set for the equation ~f5x + 29 = x+ 3? 'D/\& 2 c_)r
windous o JOQd h= Joxtaq =7
‘ ll/l = X+3 %v—_-, . GJ
8. Solve algebraically for x: /x*+x-1+1lx=7x+3 = m tlly :’/\\N_\éd
= L
induw's gsedt . : '
W J =13
11 1
9.Solve forx: —-%=-+2
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10. What is the solution set of the equation L
X

; 2_ B=
W Yod N
Wma J0 22 %3
11. What is the solution set of the equation 3x+§5 . L{l = éﬁﬁf‘_ =B .
o’ food SR
T2=2=2 Tndevsect
2 3 Ix=2

12. What is the solution, if any, of the equation 3T I-x- 3 ? )

) [ X+ =X x"-z-12 Qx ~ X= —{

ndow’s good b _ > : :

W2 j fi= 2o B N2 ay Tkt
13. Solve for x and round your answer to the nearest hundredth: 4*-5=12

) 'lﬁ . L( ‘—'q\s-‘j/ X)’:ank-( i i

oot J max L2 ThlersSedt
Fo =2
14. Solve for x and round your answer to the nearest hundredth: 8+2(4)*° =14
adjvst 3 Ma = YR X=3-19
= e Thkeset
7, = A
15. Solve for x and round your answer to the nearest thousandth: ' 1-2(3)** =-5
Winelew' 3%9(0 ‘T =1 —9(3)37“ X = j,?,-]éYlléC*"
4o =—5"

: =12 : X ‘ oy
16 $olve e for x, rounded to the nearest hundredth ?:8 ><._= . @3 T Iz Vet
ad>¥ Y max

2 ” 2 ‘fz il
17. Solve for x: x3 =4 : :X' 3
W\M&MS ijL‘)CP Lf?_ - (/ X"‘y 'l'e—f:)ik,\_—

i [ ] :7—'7 """,.’
18. Solve forx: ' —11=5 /= ><~§{»—H s Tnledect
e . 1

19. Solve for x: 4x%—16 0 Y=Ux=l b ><""f?77 Tokrsect

ard 9 max
20. Solve for x and round your answer to the nearest hundredth: 2x° —

s good = QY f”
h= d

o Tnjebed’






